EPES | ak || Eww | ewe |BEIEC EPES | Ef || BEw | ewe | PEL?
50879 40 = P L23hd HY 50909 60 E:] 2 B
50880 10 5 EiRETH TL HY 50910 50 8 SEART BIE HY
50881 60 = =) L23hd 50911 40 x SRR B HY
5082 |10kiE| B | mEE | HL | &Y
50883 40 = B B HY
50884 40 5 B 23hd
50885 40 5 RAFH "L
50886 20 5 E1=Fio) BIE HY
50887 40 5 IMETH BE
50888 30 3 E=)-4iil BE
50889 70 5 HEM BIE
50890 40 5 ookl BE
50891 10 5 HhEN "L HY
50892 20 8 BETHT B
50893 20 = SRAHT BE
50894 50 = SRFHET BE
50895 40 8 SRFHET B HY
50896 40 5 wigm TL HY
50897 10 5 Rigth BE
50898 40 8 Rilgth BIE
50899 20 5 ¥ 0] TL HY
50900 20 5 KFFth BE
50901 30 = SUE:S; BIE
50902 |10k | % i TL HY
50903 |10k | % I "L HY
50904 20 8 T BE HY
50905 20 5 T TL HY
50906 20 8 ) L23hd HY
50907 30 8 SEMHET L23hd HY
50908 20 5 BEm BIE




